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225 [N 7oLk 1.4 4.9 6.3
248 | ZATV ) 0.33 1.1 1.5
251 |Z7==haFAv 89 307 11 408
252 |7z F A 15 23 79 117
256 |7 Ak 6.3 6.3
257 |TH/)—)v 0.012 0.012
275 |RT YIVEiEET R 2 0.039 0.039
296 [1, 2, 4—RUAF AP 32 673 705
297 [1, 3, 5—hUAF LB 28 192 220
300 |[hrry 1.5 2.0 3.5
302 [F7HL 0.028 1.2 1.2
320 [ /=T x/)— 0.37 0.37
346 [2— ==L 7= /—)L 0.27 0.27
350 |~ULARI 50 9.6 33 51 115 259
405 [IZ5F LB 29 2.2 31
R FFTTF L) =T LFALT—T L (7%
407 | VIEDBRFEN12515ETOLD K E DR 5.6 19 0.14 25
AWIZIRD, )
408 R (AFv=F L) =4I FNT 2=V T—T )L 0.84 2.9 3.7
R ¥y =T L) =R T VT —T VR T A
409 20 5 0.054 0.18 0.24
410 |RYAFvxFL o) =/=LTxz=)LT—F )L 29 6.6 23 0.049 1.5 1.4 62
427 [N v 523 523
428 |7 )T HNT 179 241 420
438 [AFNFTHL 1.1 1.1
457 [V ULRA 347 237 819 1,404
o Hi 2,488 531 1,830 1,602 790 919 8,159
#23-1-29 % mANIARD T B 5y B - St G P B OB D Bt a1 RS R CERR304E I AR BRI
eI AETTHEH Rt (kg/#F)
we WA FIEH By A Al [ ARE ] o VRERA] e
i B | BRIk (BAEREEE | TR 3K FhE o
22 [ 747 u=)L 0.29 44 44
EHET VTN P R DL (T
30 | FAEORFEEN10HH14ETOLD K OEDR 45 0.95 2.2 20 68
EWIZIRD, )
53 |[TF AP 22 52 1.0 4.6 80
57 |=FL > Va—)LE /T )Lr—T )b 8.6 8.6
64 |ThT7zrTHysA 5.7 13 4.5 21 2.9 47
80 [FIlv 57 133]  0.005 8.2 8.2 207
86 /LY —L 33 7.3 17 57
87 |7 AR OZAlizasb it 0.026 0.026
117 [F7ary—u 2.4 2.4
132 (2 VR OZEDOLAY 0.005/  0.008 0.013
139 |[horAR) 12 1.1 13
140 |7 => 7Rk 4.4 4.4
153 |ThT AR 198 1.9 4.3 177 0.049 382
171 |[FuE=)y—u 21 21
181 |[P/mp~L P 235 17 40 293
207 [2, 6=V =4 =¥V —TF)—4—JILV—)L 9.4 7.0 0.0009 16
225 |R)ZmLiky 1.0 2.4 3.4
248 (ZATV ) 0.24 0.56 0.80
251 |Z7z=huFAt 64 149 2.9 216
252 | 7= F A 3.9 16 38 59
256 |7 1k 2.2 2.2
257 |TH/—)v 0.003 0.003
275 |RF I VHilET NIT L 0.010 0.010
296 [1, 2, 4—hJAF LB 11 234 245
297 [1, 3, 5—hUAF AL B 9.6 67 77
300 [hrwy 0.52 0.71 1.2
302 [F7HL 0.010 0.42 0.43
320 /=N T=/)—)L 0.13 0.13
346 [2— 7=\ Tx/—/L 0.095 0.095
350 |~ULAR) 13 6.9 16 13 40 89
405 [1ZH5FLED 7.3 0.78 8.0
R (AFTmFLy) =T LFNLr—T )L (T
407 | WVIEDBRFHEMN 12D 15ETOLD K OE DR 4.0 9.4 0.050 14
BWIZIED, )
408 R (AFXLxFL oY) =4I FNT 2=/l T—T )L 0.60 1.4 2.0
R (FFT=F L) =R T VT —T Ui A
409 |12 5 e 0.039]  0.090 0.13
410 RV FFvxFLy) =)=V Tz=)L=—TF)L 7.5 4.7 11 0.013 0.52 0.47 24
427 [JI "L 133 133
428 | 7= )T ANT 46 84 129
438 [AFNFTHLL 0.38 0.38
457 [P 7rLRA 88 171 397 657
& it 632 382 888 407 275 320 2,904
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F3-1-30 & MANARDTE A BFBI - XE G A RO D Pl HH R HE R R (TR S04 2 ; e LY

KA LRI B (ke/4F)
W WA FhEM B A Al [AREF ] e VRERA] e
Fiaza AbA | IRtk [BiBREEE IR Al R FUE o
22 | 747 a=)L 0.19 88 88
EE T XN B 2R R O DR (7 v
30 | FAEDERFEN10H14ETOLD KR OEDIR 29 2.3 2.0 41 74
AWIZIRD, )
53 |TF NP 54 47 2.0 9.2 112
57 | =FLrFVa—LE/)TF)LT—T/L 17 17
64 |Th7xr T EyIA 14 12 2.9 41 5.8 75
80 ¥l 138 119 0.003 16 16 290
86 /LY —L 21 18 15 54
87 [ 7ul RO =Afir e Mei W) 0.053 0.053
17 [F7=ary— 4.8 4.8
132 |2 VAR OZEDOEY 0.010 0.016 0.026
139 [ForAR 7.8 2.1 9.9
140 |7=> 7R 2.9 2.9
153 |ThI AN 128 4.5 3.9 115 0.099 251
171 |[FrE=ary—iu 41 41
181 |[P/mp~y Py 152 42 36 230
207 |2, 6=V —F— vV —TF—4—JL Y —)L 6.1 4.5 0.002 11
225 [N 7oLk 2.4 2.1 4.6
248 | HATV I 0.58 0.50 1.1
251 |Z7==haFAv 154 134 1.9 290
252 |7=rF Ay 2.5 40 34 77
256 |7 Ak 4.4 4.4
257 |FH )= 0.002 0.002
275 |RT YIVEiEET R 2 0.006 0.006
296 [1, 2, 4—RUAF AP 22 468 490
297 [1, 3, 5—hUAF LB 19 134 153
300 |[hrry 1.0 1.4 2.5
302 [F7HL 0.020 0.84 0.86
320 | /=T x/)—)V 0.26 0.26
346 [2— ==L 7= /—)L 0.19 0.19
350 |~ULARI 8.3 17 14 8.5 80 128
405 [IZ5F LB 4.7 1.6 6.2
R (FFv=FLo) =T AFLT—T L (T ¥
407 | VIEDBRFEN12515ETOLD K E DR 9.7 8.4 0.10 18
AWIZIRD, )
408 R (AFv=F L) =4I FNT 2=V T—T )L 1.5 1.3 2.7
R (AF L LF L) =R T VATV A
409 20 5 0.093)  0.081 0.17
410 (R GFFLxFLo)=/=LTz=LT—F )L 4.8 11 9.9 0.008 1.0 0.94 28
427 [N v 86 86
428 |7 )T HNT 29 168 197
438 [AFNFTHL 0.77 0.77
457 [V ULRA 57 412 357 825
o Hi 409 920 797 263 550 640 3,579
#23-1-31 R mANIARD T35 B3 - St G P B OB D Bt a1 S R CERR304EE ; BEUR)
eI AETTHEH Rt (kg/#F)
we WA FIEH By A Al [ ARE ] o VRERA] e
i B | BRIk (BAEREEE | TR 3K FhE o
22 [ 747 u=)L 0.10 15 15
EHET VTN P R DL (T
30 | FNIEDRFHEN10DH14ETOLD K OEDIR: 16 0.49 1.3 7.1 24
EWIZIRD, )
53 |[TF AP 11 32 0.35 1.6 45
57 |=FL > Va—)LE /T )Lr—T )b 3.0 3.0
64 |ThT7zrTHysA 2.9 8.0 1.5 7.2 1.0 21
80 [FIlv 29 81 0.002 2.9 2.8 116
86 /LY —L 11 3.7 10 25
87 |7 AR OZAlizasb it 0.009 0.009
117 [F7ary—u 0.83 0.83
132 (2 VR OZEDOLAY 0.002]  0.003 0.004
139 |hTRAR 4.2 0.37 4.6
140 |7 => 7Rk 1.5 1.5
153 |ThT AR 69 0.96 2.6 62 0.017 134
171 |[FuE=)y—u 7.2 7.2
181 |[P/mp~L P 82 8.9 25 115
207 [2, 6=V =4 =¥V —TF)—4—JILV—)L 3.3 2.4 0.0003 5.7
225 [N 7oLk 0.52 1.4 2.0
248 (ZATV ) 0.12 0.34 0.46
251 |Z7z=huFAt 33 91 1.0 124
252 | 7= F A 1.4 8.5 23 33
256 |7 1k 0.76 0.76
257 |TH)—)v 0.001 0.001
275 |RF I VHilET NIT L 0.003 0.003
296 [1, 2, 4—hJAF LB 3.8 81 85
297 [1, 3, 5—hUAF AL B 3.3 23 27
300 [P 0.18 0.25 0.43
302 |[F7HLv 0.003 0.14 0.15
320 /=N T=/)—)L 0.045 0.045
346 [2— 7=\ Tx/—/L 0.033 0.033
350 |~ULAR) 4.4 3.6 9.8 4.5 14 36
405 [1ZH5FLED 2.5 0.27 2.8
R (AFTmFLy) =T LFNLr—T )L (T
407 | WVIEDBRFHEMN 12D 15ETOLD K OE DR 2.1 5.7 0.017 7.8
BWIZIED, )
408 R (AFXLxFL oY) =4I FNT 2=/l T—T )L 0.31 0.85 1.2
R (FFT=F L) =R T VT —T Ui A
409 |12 5 e 0.020/  0.055 0.074
410 RV FFvxFLy) =)=V Tz=)L=—TF)L 2.6 2.4 6.7]  0.004 0.18 0.16 12
427 [JI "L 46 46
428 | 7= )T ANT 16 29 45
438 [AFNFTHLL 0.13 0.13
457 [P 7rLRA 31 88 241 360
& it 220 196 539 142 95 111 1,303
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#3-1-32 B IMFNARDTTZ ST BRI - %T%{I:?%E%U@HF&%L&%%% (P304 ; S HR IR

KA TEIPE B (ke/4F)
W WA FhEM B A Al [AREF ] e VRERA] e
Fiaza AbA | IRtk [BiBREEE IR RAI] R FUE o
22 | 747 a=)L 0.11 19 19
EE T XN B 2R R O DR (7 v
30 | FAEDERFEN10H14ETOLD KR OEDIR 18 1.0 1.7 8.9 29
AWIZIRD, )
53 |TF NP 23 41 0.43 2.0 67
57 | =FLrFVa—LE/)TF)LT—T/L 3.7 3.7
64 |Th7xr T EyIA 5.9 10 1.8 9.0 1.2 28
80 ¥l 60 105 0.002 3.6 3.5 172
86 /LY —L 13 7.6 13 34
87 [ZuLRO=AGZaMEAY 0.011 0.011
17 [F7=ary— 1.0 1.0
132 |2 VAR OZEDOEY 0.002 0.004 0.006
139 [ForAR 4.8 0.47 5.3
140 |7 x> s’k 1.8 1.8
153 | 7RI AR 79 1.9 3.4 71 0.021 155
171 |[Fagary—u 8.9 8.9
181 |[P/mp~y Py 94 18 32 144
207 |2, 6=V —F— ¥ —TF)—4—JL/—)L 3.7 2.8 0.0004 6.5
225 [N 7oLk 1.1 1.9 2.9
248 | HATV I 0.25 0.44 0.69
251 |Z7==haFAv 67 117 1.1 185
252 |7=rF Ay 1.6 17 30 49
256 |7 Ak 0.95 0.95
257 |TH/)—)v 0.001 0.001
275 |RT YIVEiEET R 2 0.004 0.004
296 [1, 2, 4—RUAF AP 4.8 101 106
297 [1, 3, 5—hUAF LB 4.2 29 33
300 |[hrry 0.22 0.31 0.53
302 [F7HL 0.004 0.18 0.19
320 [ /=T x/)— 0.056 0.056
346 [2— ==L 7= /—)L 0.041 0.041
350 |~ULARI 5.1 7.3 13 5.2 17 48
405 [IZ5F LB 2.9 0.34 3.2
R (FFv=FLo) =T AFLT—T L (T ¥
407 | VIEDBRFEN12515ETOLD K E DR 4.2 7.4 0.022 12
AWIZIRD, )
408 R (AFv=F L) =4I FNT 2=V T—T )L 0.63 1.1 1.7
R ¥y =T L) =R T VT —T VR T A
409 20 5 0.040/  0.071 0.11
410 |RY AFvoFL ) =/=AVTx=)LT—F )L 3.0 5.0 8.7 0.005 0.22 0.20 17
427 [N v 53 53
428 |7 )T HNT 18 36 54
438 [AFNFTHL 0.17 0.17
457 [V ULRA 35 179 312 526
o Hi 252 399 698 162 119 139 1,769
#23-1-33 R mANIARD T35y B R - St G P B OB L Bt a1 S CTRR304E B ; [ 11 J)
eI AETTHEH Rt (kg/#F)
we W4, FIEH By A Al [ ARE ] o VRERA] e
i B | BRIk (BAEREEE | TR 3K FhE o
22 | 747u=)L 0.39 50 50
EHET VTN P R DL (T
30 | FNIEDRFHEN10DH14ETOLD K OEDIR: 61 2.1 3.8 23 90
EWIZIRD, )
53 |[TF AP 50 88 1.1 5.2 145
57 |=FL > Va—)LE /T )Lr—T )b 9.7 9.7
64 |ThT7zrTHysA 13 22 6.0 23 3.2 68
80 [FIlv 128 226  0.006 9.3 9.2 372
86 /LY —L 45 16 29 90
87 |7 AR OZAlizasb it 0.030 0.030
117 [F7ary—u 2.7 2.7
132 (2 VR OZEDOLAY 0.005/  0.009 0.015
139 |hTRAR 16 1.2 18
140 |7 => 7Rk 6.0 6.0
153 |ThT AR 268 4.2 7.3 241 0.056 521
171 |[FuE=)y—u 23 23
181 |[P/mp~L P 319 39 69 426
207 [2, 6=V =4 =¥V —TF)—4—JILV—)L 13 9.4 0.001 22
225 [R)ZojLake 2.3 4.0 6.3
248 (ZATV ) 0.53 0.95 1.5
251 |Z7z=huFAt 143 253 3.9 400
252 | 7= F A 5.3 37 65 107
256 |7 1k 2.5 2.5
257 |TH)—)v 0.004 0.004
275 |RF I VHilET NIT L 0.013 0.013
296 [1, 2, 4—hJAF LB 12 264 276
297 |1, 3, 5—hIAF LB 11 75 86
300 [hrwy 0.58 0.80 1.4
302 [F7HL 0.011 0.47 0.48
320 /=N T=/)—)L 0.15 0.15
346 2— T ==/ Tx/)—/L 0.11 0.11
350 |~ULAR) 17 15 27 18 45 123
405 [1ZH5FLED 9.8 0.87 11
R (AFTmFLy) =T LFNLr—T )L (T
407 | WVIEDBRFHEMN 12D 15ETOLD K OE DR 9.0 16 0.057 25
BWIZIED, )
408 R (AFXLxFL oY) =4I FNT 2=/l T—T )L 1.3 2.4 3.7
R (FFT=F L) =R T VT —T Ui A
409 |12 5 e 0.086 0.15 0.24
410 RV FFvxFLy) =)=V Tz=)L=—TF)L 10 11 19| 0.017 0.58 0.53 41
427 [JI "L 180 180
428 | 7= )T ANT 62 94 156
438 [AFNFTHLL 0.43 0.43
457 [P 7rLRA 120 381 675 1,176
& i 858 852 1,508 552 309 360 4,439
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#3-1-34 %&Eﬁﬂ(ﬂ%é%gﬁﬁl”%b%T%{K?%E%IJODHF&%;E

KA TEIPE B (ke/4F)
W WA FhEM B A Al [AREF ] e VRERA] e
Fiaza AbAl | IRtk [BiBREEE IR Al R FUE o
22 | 747 a=)L 0.58 69 69
EE T XN B 2R R O DR (7 v
30 | FAEDERFEN10H14ETOLD KR OEDIR 91 2.5 5.4 32 131
AWIZIRD, )
53 |TF NP 58 128 1.6 7.2 194
57 | =FLZYa—LE/TFLT—F)L 13 13
64 |Th7xr T EyIA 15 32 9.1 32 4.5 93
80 ¥l 149 326]  0.009 13 13 501
86 /LY —L 67 19 41 127
87 [ZuLRO=AGZaMEAY 0.041 0.041
17 [F7=ary— 3.7 3.7
132 |2 VAR OZEDOEY 0.007 0.013 0.020
139 [ForAR 25 1.7 26
140 |7=> 7R 9.0 9.0
153 |ThI AN 403 4.8 11 361 0.077 780
171 |[Fara)y—L 32 32
181 |[P/mp~y Py 479 45 99 623
207 |2, 6=V —F— vV —TF—4—JL Y —)L 19 14 0.001 33
225 [N 7oLk 2.6 5.8 8.4
248 | HATV I 0.62 1.4 2.0
251 |Z7==haFAv 167 365 5.8 538
252 |7=rF Ay 8.0 43 94 145
256 |7 Ak 3.4 3.4
257 |FH /=) 0.006 0.006
275 |RT YIVEiEET R 2 0.020 0.020
296 |1, 2, 4—hRIAF LB 17 365 382
297 [1, 3, 5—hUAF LB 15 104 119
300 |[hrry 0.81 1.1 1.9
302 [F7HL 0.015 0.65 0.67
320 | /=T 2 )= 0.20 0.20
346 [2— ==L 7= /—)L 0.15 0.15
350 |~ULARI 26 18 40 27 62 172
405 [IZ5F LB 15 1.2 16
R FFTTF L) =T LFALT—T L (7%
407 | VIEDBRFEN12515ETOLD K E DR 11 23 0.079 34
AWIZIRD, )
408 R (AFv=F L) =4I FNT 2=V T—T )L 1.6 3.4 5.0
R ¥y =T L) =R T VT —T VR T A
409 20 5 0.10 0.22 0.32
410 |RYAFvxFL o) =/=LTxz=)LT—F )L 15 12 27 0.026 0.81 0.73 56
427 [N v 271 271
428 |7 )T HNT 93 131 224
438 [AFNFTHL 0.60 0.60
457 [V ULRA 180 444 974 1,598
o Hi 1,288 992 2,176 830 429 499 6,213
#23-1-35 R MANIARD T35y B 5 - St G P B OB Bt a1 R CERR304E 5 (L 1 B
eI AETTHEH Rt (kg/#F)
we WA FIEH By A Al [ ARE ] o VRERA] e
i B | BRIk (BAEREEE | TR 3K FhE o
22 [ 747 u=)L 0.29 69 69
EHET VTN P R DL (T
30 | FNIEDRFHEN10DH14ETOLD K OEDIR: 45 1.7 2.1 32 81
EWIZIRD, )
53 |[TF AP 40 49 1.6 7.2 97
57 |=FL > Va—)LE /T )Lr—T )b 13 13
64 |ThT7zrTHysA 10 12 4.5 32 4.5 64
80 [FIlv 101 125 0.005 13 13 251
86 /LY —L 33 13 16 62
87 |7 AR OZAlizasb it 0.041 0.041
117 [ 7723/ — 3.7 3.7
132 (2 VR OZEDOLAY 0.007]  0.013 0.020
139 |[horAR) 12 1.7 14
140 |7 => 7Rk 4.5 4.5
153 |ThT AR 200 3.3 4.1 179 0.077 387
171 |[FuE=)y—u 32 32
181 |[P/mp~L P 238 31 38 306
207 [2, 6=V =4 =¥V —TF)—4—JILV—)L 9.5 7.0 0.001 17
225 [N 7oLk 1.8 2.2 4.0
248 (ZATV ) 0.42 0.52 0.94
251 |Z7z=huFAt 113 140 2.9 256
252 | 7= F A 4.0 29 36 69
256 |7 1k 3.4 3.4
257 |TH)—)v 0.003 0.003
275 |RF I VHilET NIT L 0.010 0.010
296 [1, 2, 4—hJAF LB 17 365 382
297 [1, 3, 5—hUAF AL B 15 104 119
300 [hrwy 0.81 1.1 1.9
302 [F7HL 0.015 0.65 0.67
320 /=N T=/)—)L 0.20 0.20
346 [2— 7=\ Tx/—/L 0.15 0.15
350 |~ULAR) 13 12 15 13 62 116
405 [1ZH5FLED 7.3 1.2 8.6
R (AFTmFLy) =T LFNLr—T )L (T
407 | WVIEDBRFHEMN 12D 15ETOLD K OE DR 7.1 8.8 0.079 16
BWIZIED, )
408 R (AFXLxFL oY) =4I FNT 2=/l T—T )L 1.1 1.3 2.4
R (FFT=F L) =R T VT —T Ui A
409 |12 5 e 0.068]  0.084 0.15
410 RV FFvxFLy) =)=V Tz=)L=—TF)L 7.6 8.4 0] 0.013 0.81 0.73 28
427 [JI "L 134 134
428 | 7= )T ANT 46 131 177
438 [AFNFTHLL 0.60 0.60
457 [P 7rLRA 89 302 372 763
& it 640 674 832 412 429 499 3,485
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KA TEIPE B (ke/4F)
W WA FhEM B A Al [AREF ] e VRERA] e
Fiaza AbA | IRtk [BiBREEE IR Al R FUE o
22 | 747 a=)L 0.16 37 38
EE T XN B 2R R O DR (7 v
30 | FAEDERFEN10H14ETOLD KR OEDIR 24 2.2 1.7 17 45
AWIZIRD, )
53 |TF NP 51 39 0.85 3.9 95
57 | =FLrFVa—LE/)TF)LT—T/L 7.3 7.3
64 |Th7xr T EyIA 13 9.9 2.4 18 2.4 45
80 ¥l 131 100 0.002 7.0 6.9 245
86 /LY —L 18 17 13 47
87 [ 7ul RO =Afir e Mei W) 0.022 0.022
17 [F7=ary— 2.0 2.0
132 |2 VAR OZEDOEY 0.004 0.007 0.011
139 [ForAR 6.5 0.91 7.4
140 |7=> 7R 2.4 2.4
153 | 7RI AR 107 4.3 3.3 96 0.042 211
171 |[Fagary—u 18 18
181 |[P/mp~y Py 127 40 31 198
207 |2, 6=V —H—31¥UV—TF)N—4—IL/—)L 5.1 3.8 0.0007 8.9
225 [N 7oLk 2.3 1.8 4.1
248 | ZATV ) 0.55 0.42 0.97
251 |Z7==haFAv 147 112 1.6 261
252 |7=rF Ay 2.1 38 29 69
256 |7 Ak 1.9 1.9
257 |FH /=) 0.002 0.002
275 |RT YIVEiEET R 2 0.005 0.005
296 [1, 2, 4—RUAF AP 9.3 198 208
297 [1, 3, 5—hUAF LB 8.2 57 65
300 |[hrry 0.44 0.60 1.0
302 [F7HL 0.008 0.35 0.36
320 [ /=T x/)— 0.11 0.11
346 [2— ==L 7= /—)L 0.081 0.081
350 |~ULARI 6.9 16 12 7.1 34 76
405 [IZ5F LB 3.9 0.66 4.6
R (FFv=FLo) =T AFLT—T L (T ¥
407 | VIEDBRFEN12515ETOLD K E DR 9.3 7.1 0.043 16
AWIZIRD, )
408 R (AFv=F L) =4I FNT 2=V T—T )L 1.4 1.1 2.4
R ¥y =T L) =R T VT —T VR T A
409 20 5 0.088)  0.068 0.16
410 Ry AFvoFLy)=/=L7xz=)LT—T )L 4.1 11 8.3 0.007 0.44 0.40 24
427 [N v 72 72
428 |7 )T HNT 25 71 96
438 [AFNFTHL 0.32 0.32
457 [V ULRA 48 391 300 739
o Hi 342 874 670 220 233 271 2,611
#23-1-37 R mANIARD T B 5y B - St G P B OB Bt a1 R CERR304E I F) 11U
eI AETTHEH Rt (kg/#F)
we W4, FIEH By A Al [ ARE ] o VRERA] e
i B | BRIk (BAEREEE | TR 3K FhE o
22 [ 747 u=)L 0.20 19 19
EHET VTN P R DL (T
30 | FNIEDRFHEN10DH14ETOLD K OEDIR: 30 1.8 1.3 8.7 42
EWIZIRD, )
53 |[TF AP 43 30 0.43 1.9 76
57 |=FL > Va—)LE /T )Lr—T )b 3.6 3.6
64 |ThT7zrTHysA 11 7.7 3.0 8.8 1.2 32
80 [FIlv 110 77| 0.003 3.5 3.5 194
86 /LY —L 22 14 9.8 46
87 |7 AR OZAlizasb it 0.011 0.011
117 [F7ary—u 1.0 1.0
132 (2 VR OZEDOLAY 0.002]  0.003 0.005
139 |[horAR) 8.2 0.46 8.6
140 |7 => 7Rk 3.0 3.0
153 |ThT AR 134 3.6 2.5 120 0.021 261
171 |[FuE=)y—u 8.8 8.8
181 |[P/mp~L P 160 33 24 217
207 [2, 6=V =4 =¥V —TF)—4—JILV—)L 6.4 4.7 0.0004 11
225 |R)ZmLiky 1.9 1.4 3.3
248 (ZATV ) 0.46 0.32 0.78
251 |Z7z=huFAt 123 87 1.9 212
252 | 7= F A 2.7 32 22 57
256 |7 1k 0.93 0.93
257 |TH)—)v 0.002 0.002
275 |RF I VHilET NIT L 0.007 0.007
296 [1, 2, 4—hJAF LB 4.7 99 104
297 |1, 3, 5—hIAF LB 4.1 28 32
300 [P 0.22 0.30 0.52
302 [F7HL 0.004 0.18 0.18
320 /=N T=/)—)L 0.055 0.055
346 2— T ==/ Tx/)—/L 0.040 0.040
350 |~ULAR) 8.7 13 9.4 8.9 17 57
405 [1ZH5FLED 4.9 0.33 5.3
R (AFTmFLy) =T LFNLr—T )L (T
407 | WVIEDBRFHEMN 12D 15ETOLD K OE DR 7.8 5.5 0.021 13
BWIZIED, )
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